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the following is the best line of causal analysis for A to do? The
author establishes his position in the passage by doing which one of
the following? The author of the passage argues by.... The argument
seeks to do which one of the following? A most seriously weakens Bs
argument by doing which one of the following? Which one of the
following techniques of argument does the author use in the passage?
As statement most closely conforms to which one of the following
principles? The relationship if As response to Bs argument is that As
response...A responds to Bs argument by [1 How is As response
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